	B-1
	B-2

	Определить значения переменных 

в результате исполнения 

следующего алгоритма

а) при c = 2 и d = 7;
б) при c = - 2 и d = -7.
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	Определить значения переменных 

в результате исполнения 

следующего алгоритма

а) при e = -7 и f = 10;
б) при e = 7 и f = -10;
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	B-3
	B-4

	Определить значения переменных 

в результате исполнения 

следующего алгоритма

а) при g = 6 и h = 5;
б) при g = -2 и h = 1;
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	Определить значения переменных 

в результате исполнения 

следующего алгоритма

а) при к = -2 и m = -2;
б) при к = 5 и m = 7;
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	B-5
	B-6

	Определить значения переменных 

в результате исполнения 

следующего алгоритма

а) при r = 2 и s = 3;
б) при r = -2 и s = -3.
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	Определить значения переменных 

в результате исполнения 

следующего алгоритма

а) при t = 3 и u = 4;
б) при t = -3 и u = -4.
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	B-7
	B-8

	Определить значения переменных 

в результате исполнения 

следующего алгоритма

а) при v = 2 и w = 3;
б) при v = -2 и w = -3.
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	Определить значения переменных 

в результате исполнения 

следующего алгоритма

а) при y = 5 и z = 7;
б) при y = -5 и z = -7.
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	B-9
	B-10

	Определить значения переменных 

в результате исполнения 

следующего алгоритма

а) при c = 2 и d = -7;

б) при c = - 7 и d = 2.
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	Определить значения переменных 

в результате исполнения 

следующего алгоритма

а) при e = 7 и f = 10;

б) при e = -7 и f = -10;
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	B-11
	B-12

	Определить значения переменных 

в результате исполнения 

следующего алгоритма

а) при g = 6 и h = -5;

б) при g = 2 и h = -1;
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	Определить значения переменных 

в результате исполнения 

следующего алгоритма

а) при к = -2 и m = -2;

б) при к = 5 и m = 7;
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